—“ IR 3P
R A BY
, 1 /_ -4
R = i%‘ﬁ T EEFRTV
B oL 22 33 2
Z B EcE théf LB EF Fpﬁ?vﬂt
y i
R BFFE SR RT P cF LR RS S HEVERERRF 2 B2
F2 O R2EEVEFOIMAEE > FyuL THEEZFF  BYFEVE 0 34
"HEBEEFERIFPYY 8 20 THERRF  BETLRF 75 FRAD
¢ %ﬁfﬁﬁ_aﬁ: BN HEEFV Y  EFAB PR BPR o
TR FTREEEREFAY AT ROL o)
—~pvawaa%
1. pP¥ 110611 7p~106 %11 8P
2. ¥ 3 Y RSIEA )L FOBI3 37 Y B Ai1E)

R A
10617 70 (- %)
B\ b & 4R B\ 4R Ech i
=
0830- RE
0900
0900- smaE:
1030 H=E
BN
1040- 2R RREEEITH
1210 FL—REmES BEE BB E R
o %4, @ CE.
BERS Y- B
5
1210- FE2
1310
1310- s H2E WEE
1440 iR EEEH BREESZVERT
1450- g8 i BRI T 75 EA TR




1620 B ith 52 IR A FI 2 F - 2 S oakill:alEs

B e e
EMEE

10617 88 ($= )
B\ D e AR BN e AR Hh i

=

0830- S ES

0900

0900- EREEEE HERE BExEABAES

1030 BEREE = mE Y\ 2y B
B 0

1040- WE iR = e

1210 SR st L 2 AEEREEES

GUHET SRR

*SALN 7 r ‘égrL’ -3 S AR =

©

\\\ﬁr

&ﬁ.ﬁ,@@’%%@+ﬂ%@£w+%\@w%$%£m+%‘
RP e 10/ P sfrei i T giEEdirEd o

@a‘ﬁ WH i+ sy

OME = M= d B A TR KT o



